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gm_m›` AZwXoe Ö

1. narjmWu ‡ÌZ-nÃ Ho$ nhbo n•> na AnZm AZwH́$_mßH$ AdÌ` {bI|ü&

2. H•$n`m ‡ÌZ-nÃ H$mo Om±M b| {H$ ‡ÌZ-nÃ Ho$ Hw$b n•>m| VWm ‡ÌZm| H$s CVZr hr gßª`m h° {OVZr ‡W_ n•> Ho$ g~go
D$na N>nr h°ü& Bg ~mV H$s Om±M ^r H$a b| {H$ ‡ÌZ H´${_H$ Í$n _| h¢ü&

3. CŒma-nwpÒVH$m _| nhMmZ-{Mï ~ZmZo AWdm {Z{X©Ô> ÒWmZm| Ho$ A{V[a∫$ H$ht ^r AZwH́$_mßH$ {bIZo na narjmWu H$mo
A`moΩ` R>ham`m Om òJmü&

4. AnZr CŒma-nwpÒVH$m na ‡ÌZ-nÃ H$m H$moS> Zß0 54/HIS/2, goQ> u {bI|ü&

5. (H$) ‡ÌZ-nÃ Ho$db {h›Xr/AßJóOr _| h°ü& {\$a ^r, `{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm _| CŒma Xo
gH$Vo h¢ Ö

AßJ´oOr, {h›Xr, CXy©, nßOm~r, ~ßJbm, V{_b, _b`mb_, H$fiãS>, VobwJy, _amR>r, C{ãS>`m, JwOamVr,

H$m|H$Ur, _{Unwar, Ag{_`m, Zonmbr, H$Ì_rar, gßÒH•$V Am°a {g›Yrü&

H•$n`m CŒma-nwpÒVH$m _| {XE JE ~m∞äg _| {bI| {H$ Amn {H$g ^mfm _| CŒma {bI aho h¢ü&

(I) `{X Amn {h›Xr Edß AßJ´oOr Ho$ A{V[a∫$ {H$gr A›` ^mfm _| CŒma {bIVo h¢, Vmo ‡ÌZm| H$mo g_PZo _| hmoZo
dmbr Ãw{Q>`m|/Jb{V`m| H$s {OÂ_oXmar Ho$db AmnH$s hmoJrü&
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BI OL OGY (The ory)

Ord{dkmZ ({g’m›V)

(314)

Time : 3 Hours ] [ Max i mum Marks : 80

g_` : 3 K Q>o ] [ nyUm™H$ : 80

Note : (i) This Question Paper consists of 30 questions.

(ii) All the questions are compulsory.

(iii) Marks for each question has been indicated against it.

(iv) Each question from Question Nos. 1 to 8 has four alternatives—(A), (B), (C)

and (D), out of which one is most appropriate. Choose the correct answer

among the four alternatives and write it in your answer-book against

the number of the question. No extra time is allotted for attempting

multiple-choice questions.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| 30 ‡ÌZ h¢ü&

(ii) g^r ‡ÌZ A{Zdm ©̀ h¢ü&

(iii) ‡À òH$ ‡ÌZ Ho$ AßH$ CgHo$ gm_Zo Xem©`o J`o h¢ü&

(iv) ‡ÌZ gßª`m 1 go 8 VH$ Ho$ ‡À òH$ ‡ÌZ _| Mma {dH$În—(A), (B), (C) Am°a (D) {X`o J`o h¢, {OZ_|
EH$ ghr h°ü& Mmam| {dH$Înm| _| go ghr CŒma MwZ| VWm AnZr CŒma-nwpÒVH$m _| ‡ÌZ gßª`m Ho$ gm_Zo CŒma
{bI|ü& ~h˛-{dH$Înr ‡ÌZm| Ho$ {bE A{V[a∫$ g_` Zht {X`m OmEJmü&

1. Pick the odd one out : 1

(A) UAA

(B) AUG

(C) UAG

(D) UGA

{df_ e„X H$mo Mw{ZE :

(A) UAA

(B) AUG

(C) UAG

(D) UGA
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2. Which of the following is a true fish? 1

(A) Dogfish

(B) Jellyfish

(C) Starfish

(D) Silverfish

{ZÂZ{b{IV _| go H$m°Z-gr EH$ `WmW© _N>br h°?

(A) S>m∞J{\$e

(B) Oo{b{\$e

(C) ÒQ>ma{\$e

(D) {gÎda{\$e

3. The type of placentation seen in Bhindi is

(A) marginal

(B) parietal

(C) superficial

(D) axile 1

q^S>r _| ‡mflV ~rOmßS>›`mg H$m ‡H$ma h°

(A) gr_mßV

(B) {^Œmr`

(C) gVhr (su per fi cial)

(D) Ajr`
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4. The narrow spectrum antibiotic used against few pathogenic bacteria is

(A) erythromycin

(B) tetracycline

(C) streptomycin

(D) chloramphenicol 1

Z°amo ÒnoäQ¥>_ (nar row spec trum) ‡{Vajr, Omo Hw$N>oH$ amoJOZH$ OrdmUwAm| Ho$ {bE ‡`w∫$ H$s OmVr
h°, h°

(A) E[aW´mo_mB{gZ

(B) Q>oQ¥>mgmBpäbZ

(C) ÒQ¥>oflQ>mo_mB{gZ

(D) äbmoa°Â\°${ZH$m∞b

5. Sea anemone, a Cnidarian, gets attached to the shell of hermit crab. This type

of association is known as

(A) commensalism

(B) parasitism

(C) mutualism

(D) neutralism 1

EH$ ZmBS>o[a`Z ‡mUr g_w–r EoZr_moZ h{_©Q> Ho$H$ãS>o Ho$ H$dM na {MnH$ OmVm h°ü& Bg gß~ßY H$mo H$hVo h¢

(A) gh^mo{OVm

(B) naOr{dVm

(C) ghmonH$m[aVm

(D) CXmgrZVm
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6. Which one of the following is an example of a unicellular fungus? 1

(A) Penicillium

(B) Yeast

(C) Mushroom

(D) Lichens

{ZÂZ{b{IV _| go H$m°Z-gm EH$ EH$H$mo{eH$ H$dH$ H$m CXmhaU h°?

(A) no{Z{g{b`_

(B) `rÒQ>

(C) _eÍ$_

(D) bmBHo$Z

7. Vascular bundles that are open, conjoint with xylem in endarch condition is a

characteristic of

(A) dicot root

(B) monocot root

(C) monocot stem

(D) dicot stem 1

Eogo gßdhZr ~ßS>b, Omo Iwbo hmoVo h¢, gß`w∫$ hmoVo h¢ VWm {OZ_| µOmBb_ EßS>mH©$ (endarch) pÒW{V _|
hmoVm h°, {H$gH$s {d{eÔ>Vm hmoVo h¢?

(A) {¤~rOnÃr OãS>

(B) EH$~rOnÃr OãS>

(C) EH$~rOnÃr VZm

(D) {¤~rOnÃr VZm
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8. A cross between the F1 progeny and a homozygous recessive parent is known as

(A) testcross

(B) reciprocal cross

(C) monohybrid cross

(D) dihybrid cross 1

F1 gßV{V VWm EH$ g_ ẁΩ_Or A‡^mdr OZH$ Ho$ ~rM Ho$ H$́m∞g H$mo H$hVo h¢

(A) narjmW© H´$m∞g

(B) Ï ẁÀH´$_ H´$m∞g

(C) EH$gßH$a H´$m∞g

(D) {¤gßH$a H´$m∞g

9. Why does insectivorous plant eat insects when it is capable of carrying out

photosynthesis? 2

H$sQ>mhmar nm°Ym ‡H$me-gßÌbofU {H´$`m H$aZo _| gj_ h° {\$a ^r dh H$sQ>m| H$m ^jU H$aVm h°, ä`m|?

10. With the help of equations, briefly explain double fertilization. 2

g_rH$aUm| H$s ghm`Vm go {¤-{ZfoMZ ‡{H´$`m H$s gßjon _| Ï`mª`m H$s{OEü&

11. Define the following terms : 2

(a) Humus

(b) Soil erosion

(c) Terracing

(d) Deforestation

{ZÂZ{b{IV e„Xm| H$s n[a^mfm {b{IE :

(a) ȳ_g

(b) _•Xm AnaXZ

(c) grãT>rXma IoVr

(d) dZmo›_ybZ
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12. Chromosomal change in structure is termed as chromosomal aberration. List

four types of chromosomal aberrations. 2

gßaMZm _| JwUgyÃr n[adV©Z H$mo JwUgyÃr {dnWZ H$hVo h¢ü& Mma ‡H$ma Ho$ JwUgyÃr {dnWZm| H$s MMm©
H$s{OEü&

13. Name the respiratory organs in cockroach and earthworm. 2

{VbM≈>o Am°a H|$MwE Ho$ ÌdgZ AßJm| Ho$ Zm_ ~VmBEü&

14. Distinguish between pioneer community and climax community. 2

AJ´Jm_r g_wXm` Am°a Ma_ g_wXm` _| AßVa ~VmBEü&

15. (a) What are transgenic plants?

(b) Name a soil bacterium which is commonly used to produce transgenic

plants. 2

(a) nmaOrZr nm°Yo ä`m hmoVo h¢?

(b) EH$ Eogo _•Xm-OrdmUw H$m Zm_ ~VmBE, {Ogo nmaOrZr nm°Ym| H$mo CÀnfi H$aZo _| Am_Vm°a go ‡`w∫$
{H$`m OmVm h°ü&

16. Define the following terms with appropriate examples : 2

(a) Multiple alleles

(b) Codominance

Cn`w∫$ CXmhaUm| g{hV {ZÂZ{b{IV e„Xm| H$s n[a^mfm {b{IE :

(a) ~h˛ Eobrb

(b) gh‡^m{dVm

17. With the help of diagrams and appropriate examples, distinguish between

monadelphous and diadelphous stamens. 2

AmaoIm| Am°a Cn`w∫$ CXmhaUm| H$s ghm`Vm go, EH$gßKr Am°a {¤gßKr nwßHo$gam| _| AßVa ~VmBEü&

18. List any four functions of roughage in our daily diet. 2

h_mao X°{ZH$ Amhma _| Èjmße Ho$ H$moB© Mma H$m ©̀ ~VmBEü&
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19. (a) Name a gymnosperm which fixes nitrogen.

(b) Name the special protein present in legume nodules. 2

(a) EH$ Eogo {OÂZmoÒn_© H$m Zm_ ~VmBE, Omo ZmBQ¥>moOZ H$m pÒWarH$aU H$aVm h°ü&

(b) \$br _| nmB© OmZo dmbr J´ß{WH$mAm| _| {d⁄_mZ {d{eÔ> ‡moQ>rZ H$m Zm_ ~VmBEü&

20. (a) Why is the number of trophic levels restricted to four or five in a food

chain?

(b) List any two human activities that has led to increase in atmospheric

CO2. 2

(a) EH$ Im⁄-˚m•ßIbm _| nmofU-ÒVam| H$s gßª`m Mma `m nm±M VH$ hr ä`moß gr{_V hmoVr h°?

(b) Eogo {H$›ht Xmo _mZd {H´$`mH$bmnm| H$s gyMr ~ZmBE, {OZHo$ H$maU dm ẁ_ßS>b _| CO2 H$s _mÃm
~ãT> J`r h°ü&

21. What is meristematic tissue? Name its types and its appropriate locations. 4

{d^¡`moVH$ D$VH$ ä`m hmoVm h°? Bg D$VH$ Ho$ ‡H$mam| Ho$ Zm_ ~VmBE VWm BgHo$ Cn`w∫$ ÒWbm| Ho$ Zm_ 
^r ~VmBEü&

22. Explain briefly the packaging of the DNA molecule in a eukaryotic chromosome. 4

gwHo$›–H$s JwUgyÃ _| DNA AUw Ho$ gßdoÔ>Z H$s gßjon _| Ï`mª`m H$s{OEü&

23. (a) Distinguish between essential amino acids and non-essential amino acids 

giving appropriate example in each case.

(b) Name any two fat-soluble vitamins and state their functions in the human 

body. 4

(a) A{Zdm ©̀ Am°a J°a-A{Zdm ©̀ A_rZmo AÂbm| _| AßVa ~VmBEü& ‡À òH$ H$m Cn`w∫$ CXmhaU ^r ‡ÒVwV 
H$s{OEü&

(b) {H$›ht Xmo dgm-{dbò  {dQ>m{_Zm| Ho$ Zm_ ~VmBE VWm _mZd eara _| CZHo$ H$m`m] H$s MMm©
H$s{OEü&

24. (a) What is the main objective of vaccination?

(b) Name the three main types of vaccines available giving an appropriate

example in each case. 4

(a) Q>rH$mH$aU H$m ‡_wI C‘oÌ` ~VmBEü&

(b) Cnb„Y Q>rH$m| Ho$ VrZ ‡_wI ‡H$mam| Ho$ Zm_ ~VmBEü& ‡À òH$ ‡H$ma Ho$ Q>rHo$ H$m Cn`w∫$ CXmhaU
^r Xr{OEü&
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25. With the example of thyroxine, briefly explain the feedback mechanism in

hormone action. 4

Wm`am∞pägZ H$m CXmhaU XoVo h˛E, hm∞_m}Z {H´$`m _| nwZ^©aU {H´$`m{d{Y H$s gßjon _| Ï`mª`m H$s{OEü&

26. (a) List two examples each of tropic movements and turgor movements.

(b) Name the hormones concerned with the following functions :

(i) Initiation of flowering in plants

(ii) Induces ripening in fruits

(iii) Promotes cell elongation

(iv) Prevents aging in plant parts 4

(a) AZwdVu J{V`m| Am°a Ò\$s{V J{V`m| Ho$ Xmo-Xmo CXmhaU Xr{OEü&

(b) {ZÂZ{b{IV H$m`m] go gß~ß{YV hm∞_m}Zm| Ho$ Zm_ ~VmBE :

(i) nm°Ym| _oß nwÓnZ H$m Amaß̂ Z

(ii) \$bm| Ho$ nH$Zo H$mo ‡o[aV H$aZm

(iii) H$mo{eH$m Ho$ bß~o hmoZo H$m ‡moÀgmhZ

(iv) nmXn ^mJm| Ho$ OrU©Z H$mo amoH$Zm

27. (a) With the help of diagrammatic representation, explain non-cyclic

photophosphorylation.

(b) What is the role of (i) RuBisCO and (ii) PEPCO, and where are they

pres ent?

(c) State the law of limiting factor. 6

(a) AmaoIr {ZÍ$nU ¤mam, AMH´$s` ‡H$me-\$m∞Ò\$mo[abrH$aU H$s Ï`mª`m H$s{OEü&

(b) {ZÂZ{b{IV H$s ŷ{_H$m ä`m hmoVr h° VWm do H$hm± nmE OmVo h¢?

(i) RuBisCO

(ii) PEPCO

(c) gr_mßV H$maH$ {Z`_ H$m dU©Z H$s{OEü&
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28. Answer the following : 6

(a) Name the chemical the cell wall is made of which is unique to bacteria.

(b) Give an example of Basidiomycetes.

(c) Name the association in which the fungi is associated with the roots of

plants.

(d) Name the gametophyte of the fern plant.

(e) State two main characteristics of phylum Arthropoda.

(f) State two differences between striated and unstriated muscles.

{ZÂZ{b{IV Ho$ CŒma Xr{OE :

(a) Cg agm`Z H$m Zm_ ~VmBE, {Oggo {Z{_©V H$mo{eH$m{^{V OrdmUw _| hr nm`r OmVr h°ü&

(b) ~o{g{S>`mo_mB{gQ>rµO H$m EH$ CXmhaU Xr{OEü&

(c) Cg gß~ßY H$m Zm_ ~VmBE, {Og_| H$dH$ nm°Ym| H$s OãS>m| Ho$ gmW gß~ß{YV hmoVm h°ü&

(d) \$Z© Ho$ nm°Yo Ho$ `wΩ_H$moX≤{^X H$m Zm_ ~VmBEü&

(e) \$mBb_ (gßK) AmW´m}nmoS>m H$s Xmo ‡_wI {d{eÔ>VmE± ~VmBEü&

(f) ao{IV Am°a Aao{IV no{e`m| Ho$ Xmo AßVa ~VmBEü&

29. (a) Draw a neat and labelled diagram of the female reproductive system in

humans.

(b) Where does the following phenomenon take place in female?

(i) Fertilization

(ii) Implantation

(c) State any two effects of uncontrolled population growth in our nation. 6

(a) _mZdm| Ho$ _mXm OZZ-VßÃ H$m EH$ Òd¿N> Am°a Zm_mß{H$V AmaoI ~ZmBEü&

(b) {ZÂZ{b{IV n[aKQ>ZmE± Ûr _| H$hm± na K{Q>V hmoVr h¢?

(i) {ZfoMZ

(ii) AßVam}nU

(c) h_mao Xoe _| A{Z`ß{ÃV OZgßª`m d•{’ Ho$ H$moB© Xmo XwÓ‡^md ~VmBEü&
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30. (a) Where does the heartbeat originate in the heart?

(b) Draw a neat diagram of the internal structure of the heart and label the

nodes involved in the heartbeat. With the help of arrows, trace the route

of the conduction of impulse for a heartbeat.

(c) Name any two heart-related disorders. 6

(a) ˆX` _| ˆX`-ÒnßXZ H$m CX≤^d H$hm± hmoVm h°?

(b) ˆX` H$s AmßV[aH$ gßaMZm H$m EH$ Òd¿N> AmaoI ~ZmBE VWm ˆX`-ÒnßXZ _| {Z{hV J´ß{WH$mAm|
H$m Zm_mßH$Z H$s{OEü& Vram| H$s ghm`Vm go EH$ ˆX`-ÒnßXZ Ho$ {bE AmdoJ Ho$ gßMbZ Ho$ _mJ©
H$mo Xem©BEü&

(c) ˆX` go gß~ß{YV Xmo {dH$mam| Ho$ Zm_ ~VmBEü&

H H H

314/HIS/106A 12 V7—3000×3


	106A-cov.pdf
	106A.pdf

